

Dodawanie

Dodaj liczby i zapisz odpowiedź w każdym kwadracie.

$$\begin{array}{c} \text{pumpkin with } 2 \end{array} + \begin{array}{c} \text{pumpkin with } 4 \end{array} = \square$$

$$\begin{array}{c} \text{pumpkin with } 8 \end{array} + \begin{array}{c} \text{pumpkin with } 7 \end{array} = \square$$

$$\begin{array}{c} \text{pumpkin with } 6 \end{array} + \begin{array}{c} \text{pumpkin with } 3 \end{array} = \square$$

$$\begin{array}{c} \text{pumpkin with } 9 \end{array} + \begin{array}{c} \text{pumpkin with } 2 \end{array} = \square$$

$$\begin{array}{c} \text{pumpkin with } 7 \end{array} + \begin{array}{c} \text{pumpkin with } 5 \end{array} = \square$$

$$\begin{array}{c} \text{pumpkin with } 3 \end{array} + \begin{array}{c} \text{pumpkin with } 6 \end{array} = \square$$

Odejmowanie

Odejmij liczby i zapisz odpowiedź w każdym kwadracie.

$$\begin{array}{c} \text{6} \end{array} - \begin{array}{c} \text{3} \end{array} = \square$$

$$\begin{array}{c} \text{9} \end{array} - \begin{array}{c} \text{4} \end{array} = \square$$

$$\begin{array}{c} \text{3} \end{array} - \begin{array}{c} \text{1} \end{array} = \square$$

$$\begin{array}{c} \text{8} \end{array} - \begin{array}{c} \text{5} \end{array} = \square$$

$$\begin{array}{c} \text{4} \end{array} - \begin{array}{c} \text{3} \end{array} = \square$$

$$\begin{array}{c} \text{7} \end{array} - \begin{array}{c} \text{2} \end{array} = \square$$